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a) ANB ={n|nld6DEHZHS, n(AN B) = 16.
b) n((ANB)UC)) =n(ANB)+n(C)—n(ANBNC)=16+20—3 =33

a)a<>5
b) 6<a<7
) BC AEGEDKRDE a DEBZRDODNIERL. ZDLDE a DEBEIE a > 8.

a) 3618 (U ={(a,b) |a, blF1HD6XTHERH ) 12D, n(U) = 36)

b) 23¢ 1@

c) A=1{(4,5),(4,6),(5.4),(5,5),(5,6),(6,4),(6,5),(6,6)}

d) B (G TE/-BOEHEECBETHDITHD, n(B) =3x3=9. LIcHh' DT, n(B) = n(U)—n(B) = 27.
e ANB ={(4,5,(54).(55.(5.6).(6,5} &0, n(ANB)=5. Py(B) = LHHH = 240D — 2 &

8
Ie, P(A)=L£ =2, P(B)=2%2 =31BDT, P(ANB) = 2 # P(A)P(B) = £ IEh'D, A& B 3MIL

TIFEON.

3) 7Y
> = g 5t
1Ed 0.9 % 4.95 % 5.85 %
(=Y 0.1% 94.05 % 94.15 %
5 1% 99 % 100 %
0.9 .
—— =0.154(= 15.4%
b) 22 = 0.154(= 15.4%)

P(AUB) = P(A)+ P(B)—P(ANB) &0 P(ANB) = P(A)+ P(B)—P(AUB) =1 +1 -3 =L

E /- PA(B) = PEJA(Q)B) = 1? =

(6] A: [&EBSMHBH, B: [MHDBNMBE] £IDE, RHDEERE Pa(B). P(A) =32, P(ANB) =

1
P(B) =} 12h'D, P4(B) =5 = 1.
4

-1 -3 - L -3 _ 1L
P(4) = 4, P(B) = <3, P(C) = 5, P(ANB) = 2 = P()P(B), P(ANC) = == # P(A)P(C),

P(BNC) = 2—16 £ P(B)P(C). UIoh>T, A& BRI, A& C, B & C RBITRE.

a) X ~B@.H1ho, EX)=2, V(X)=1

= 3—5'— — @':
b) E(X) = 13 =194, V(X)= 3a -2.05
X |0 1 2 3 | &t 12 24
C) 1 2 138 2 J:D E(X):T, V(X):E
Pl 03 |3 |35 |1

[E(CDDK]



2] ROWLBEOLHONE X ETD. WENBE | 1+ EDB, E(X) =75
4 4 4 4
(M), o(X)=25V5=559 (M)
0=5a+b
E(Y)=aE(X)+b, V(Y) = a?V(X) PRDIIDDT, “T7 smic, a=L =1,
1 = 10042 10 2

SNTRDEDEDHE Y, ROBIBEONEE Z ET5E, X =YZ. Y & Z FBESHTRIITH
2h5, E(X)=E(YZ) = E(Y)E(Z). 2LT, E(Y) = % E(Z) = 112h'5 E(X) = %

a) X ~ B(1000,0.05)
b) E(X) = 1000 x 0.05 = 50, V(X) = 1000 x 0.05 x (1 — 0.05) = 47.5.

x]o[1]2]3 =
a) X DB R R e B E(X)z%, V(X):%.
Plyal7 |7 1|l
3) e =3 —ax 35 _15
b) Y ~ B(4,3) IZh o, E(Y)_2'V(Y)_4X8X8 =

a) X ~ B(6,1), E(X)=2, V(X)= %, o(X) = #
b) 3 DBHOBHIEEL, >-OHE 6 - X ZhD, ¥V =H2)X +(-1)(6-X)=3X -6

Q) E¥)=EBX—-6)=3E(X)—6=2x3-6=0, V(¥)=VQEX —6) =32V(X) = 12, o(X) =23
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